@ V,




A L111-SZF2D/21/27 58-970-- 2/18

A B C1|C2|C3 D

1 | L110-3006 | 827 | 535 | 15 417

2 | L110-1001 | 2100 551 | 15 217

3 | L110-1002 | 2100 | 580 | 15 217

4 | L110-1003 | 2099 | 535 | 18 317

5 | L110-3001 | 827 | 480 | 22 17

6 | L110-3002 | 979 | 480 | 22 17

7 | L110-3004 | 827 | 535 | 15 417

8 | L110-3005 | 979 | 535 | 15 417

9 | L120-3007 | 979 | 535 | 15 417

10 | L111-7031 | 1364 | 300 | 15 5/7

11 | L110-9301 | 2028 | 837 | 2,5 217

12 | L110-9302 | 2028 | 987 | 2,5 317

13 | L111-7001 | 1364 | 512 | 15 6/7

14 | L111-7002 | 1364 | 726 | 15 5/7

15 | L111-7003 | 1364 | 512 | 15 6/7

16 | L111-7035 | 350 | 160 | 18 5/7

@ 17 | L93-4051 | 827 | 51 | 15 17
: = | @ @ 18 | L93-4052 | 979 | 51 | 15 17
@ o @ ; 19 dr-821 | 821 | 30 | 15 417
= I 20 dr-975 975 | 30 15 417

21 wi3e\s | 2050 | 37 717

22 wi36\9 | 2050 | 16 717

[[: 23 w249\1 | 2668 | 51 717
24 w250\ | 2664 | 32 717

P28-L111-SZF2D_21_27-M_IN16-A-KORO01 v



A L111-SZF2D/21/27 58-970-- 3/18

L
-

24X 18x(@;@ 12x 2X & 2X » &

26.3x13 mm e5 26.3x10 mm e50 26.3x10 mm e51 81 1 3 Q>150 mm @20x12 mm #16 rss M6x20 mm

=~ 36@
f35

10x @
w180\ ||27x50 mm 23,5x12mm p140 6718 r37 212x4 mm s41 S| s o j84 1140

~j106

M4x10 mm

) 3)(/{5 1% 3X @ SXO

aqd@s A
23,5516 mm p25 5x60 mm P 17 Sp-2050-12 5 mm z17 susonsmn  KE D\ [o0xs0u.5mm N148

P28-L111-SZF2D_21_27-M_IN16-A-KORO01 v



L111-SZF2D/21/27 58-970-- 4/18

Ak 1 X

Y k1l

d28 A~ n
€51 :
r37
\ , %dzg

k1

p25

f73
r37 < i

2 X m}(‘((m

23,5x13 mm p1

X

26,3x10 mm e51

12 ®

23,5x16 mm p25 6,778 r37

4X @
k1

P28-L111-SZF2D_21_27-M_IN16-A-KORO01 v



L111-SZF2D/21/27 58-970-- ‘ 5/18

©3,5x13 mm p1

12)@@

r37

4 % 4x
d28 26,3x10 mm e51

P28-L111-SZF2D_21_27-M_IN16-A-KORO01 v



L111-SZF2D/21/27 58-970-- ‘ 6/18

12

! @ > 4% 1XM
- | k75\2 k1 k75\4

220x12 mm #16 r36

P28-L111-SZF2D_21_27-M_IN16-A-KORO01 v



A L111-SZF2D/21/27 58-970-- ‘ 7118

k1

k1

5\4

5\2

k75\4

k75\2

6X @ 1x M
220x12 mm #16 '36 k75\4

P28-L111-SZF2D_21_27-M_IN16-A-KORO01 v



A L111-SZF2D/21/27 58-970-- 8/18

)

I:I

U 6 &\:C% : e N :.
\ dzou; . 163 . ; : | : \‘\

163 y 163

d20

— - e50

d20

d20 d20

Il
ﬁ36 r36 \

163 y/ \ l 6x 6X @@@ 4&
163 & r37 8 Wdzo oezaonm €90 163

P28-L111-SZF2D_21_27-M_IN16-A-KORO01 v



A L111-SZF2D/21/27

58-970--

‘ 9/18

103 %

163

I:I

e

163 & 163

o

; v

a

=\

o

> @ Zw
20| e seom. €50 163

P28-L111-SZF2D_21_27-M_IN16-A-KORO01 v




‘ 10 /18

A L111-SZF2D/21/27 58-970--
= = (&
10
/ |e3y 163 )

(37 / E ; 3 > | - ‘ : :

é N L @ | : | : / : | :
& i &~ :

H @ - ’ ® g - : :
g @ r\ @, | /

A - >

-

/

&

W,
d20

163

r37

!

?3
L)

N

A\

d20




A L111-SZF2D/21/27 58-970-- 11/18

11 o i

h158]

P28-L111-SZF2D_21_27-M_IN16-A-KORO01 v



A L111-SZF2D/21/27

58-970--

12 /18

75

~2267 mm

L®

250\1

)

f71 p25

<
N

p38

'
’NQ)

[

p25
w250\1

10X 10x
1§5 j84 6:::j)mo

M4x5 mm

o\ 2X O
106 s113

25x60 mm

M4x10 mm
2X N\

Wy

23,516 mm p25 23,5x16 mm p38 leSO mm

4X 2X
35| |mess  N14\

P28-L111-SZF2D_21_27-M_IN16-A-KORO01 v



L111-SZF2D/21/27 58-970--

13

13 /18

3X

sp-2050-12mm .

sp-2200-12mm

1></[E

iy = W
g

W136\5 ., n218

sp-2050-12mm 2

w136\9

w13%
n218

6x@

n218

P28-L111-SZF2D_21_27-M_IN16-A-KORO01 v



A L111-SZF2D/21/27

15

n238

p140
w136\5
p140 140( : : ) n180
) n180 p140 f69  e5
9 p140 p140 %
: n180 p140 fr7 69
10 :
p140 g} >\ﬂ
w136\5 "
pl40 p140
p140
- ¥ pl40
y\\
w180\l goxson smm N148 n180

w180\1 2X @ 12x 112%

w180\ ||z6.3x13 mm e5 23.5x12mm p140

P28-L111-SZF2D_21_27-M_IN16-A-KORO01 v



L111-SZF2D/21/27

w136\9

e5

n240

70

17

e5

eb

f70 %

12x W
soxsousmm N148
2 12x
n180 w180\ | [26.3x13 mm eb

P28-L111-SZF2D_21_27-M_IN16-A-KORO01 v




L111-SZF2D/21/27 58-970--
16 /18

18 A\ & | 2
lm'gfl i

Ees




L111-SZF2D/21/27 58-970-- 17 /18

y N
19 £

ifl
) -
CLICK!

4




L111-SZF2D/21/27 58-970-- 18 /18
20 @ = ®]
- [T
=
S B .
. =
;
- — 1 I b
— s1
g@
12x
@51
sl - — — ',
y

s41

P28-L111-SZF2D_21_27-M_IN16-A-KORO01 v




